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A 1. Which {fr{l)\ %ol%tmr?g ch 1ces llsts rgagfs c% kﬁé human digestive systeprg mst}]oe:onect order? Q{QS\&'P ecsla.
Statting from the mouth - ,zv gg[/p( SSLA PEQSLDL\ _
A) pharynx - esophagus - stomach small intestine - large intestine - anus.
B A Pesla

—B)pharynx - esophagus - stomach - large intestine - small intestine - anus.
- Gyésophagus - pharynx - stomach - large intestine - small intestine - anus.
D) esophagus - pharynx - stomach - small intestine - large intestine - anus. PGHULMAJ M
_E)pharynx - stomach - small intestine - esophagus - large intestine - anus.
g oAt Solt ey bloool  PASSIA. 150 rthnky thubin AmaM_JAiwhbe awls
t 11 of the following afe functlons of the m ian kidney except one. ich one is incorregt?
A water retention. filtration of blood. ) excretion of nitrogenous waste.
D)/regulatlon of salt balance in the blood. \FJj synthesis of urea from ammonia.
idNB4S retdin, 1,0, filn ilood
3. Blood travels from the mammalian hgart to the Jungs me%f e:
A)axon. B)yenacava. (C) pulmonary vein.
—> lun [ Pu\nr\orw..r\.i3
4, Acquiring immunity from a pnmary i respons
Ajartifi crally-acqurred-passwe-x
C) naturally acquired passrve unmumty

Aquia mnnr\um\-\d_M o ndecton ﬂf d achve, immuni

na
5. You dre standing barefoot on a cold stone floor. Yo ee rapldly get cold from hea: energy directly transferring
from your feet to the stones. Which method of heat loss / gain is primarily responsible for the additional heat loss?
A)konduction. B) convection. C)radiation. D) evaporation. E) metabolism.
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D ich of the following i{fiof]a nitrogenous waste produced by animals? A) onia. B)urig acid.
C) rea. @ nitrate. E) a lo the above answers (A through D) are nitrogenous wastes produced by animals.

q oL hHItgenous wosks Froduc{— The nitioenous woste S
B In what organis woul you seea ung’ for gas exchange? are. omm ma) UPU-\.) ond

crustaceans ({)ulmonate land snails and slugs. C)msects DJjeﬂyﬁsh E) ﬂatwormr uic adid.

9[“\ v (M4 ‘m“
rch of the fol owing ls/are exam& \é % K) cartllage %& C;) (met\w
"

> ‘ e cells that make up the lining of the lung alveol: endothelium of the caprllary

N

) answers B and C are both correct, ., .E) answers A, B and C are all correct. W (@ ”d"

rhiad Hats = hungy 9 o
?%ﬂ] athortlon of a human nephron lies between the Bo%nan ’s capsule an the loop of Henle? Q&_

e lacunae. the uretet.  C) the proximal convoluted tubules. D) the Haversian canal.

E) the distal convoluted tubules. Pounon Mundy -
A C,OnVOTUHd{’jb(L% pYDLLmOLQ conval U'l’E.d fbis W‘% Cel|g ~— F lagmou

10. B cells form plasma cells, which in turn produce antibodies. @ True. @False

Celle — audibo

A . An example of a fat-soluble vitamin is/are: > diLs
vitamin A. B)vitaminB. C)vitaminC. D) iodine. @two of the above answers are correct.

VITAMIN A= £t Solubie.

PN ko hot a \tar Qodudbots \Mwwu
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’ y 12 The microscopic chambers or ‘islands’ in bone that house mature osteoc es are called:
)() A) lamellae. B) Haversian canals. C) ganglia. D) mgumal canal. E)lacunae.

13. A new disease affects the bas t membrane 2 e extra uF\'Sma ofac rtaw animal tissue. Which
fis th @ epithelial lining of the alveoli.

tissue is affected? A) adipose fissue. B) smoo muscle

C/ D) nerve tracts in the spinal cord. Wm% % W‘r(’h Wﬂm q mmd. Y)’\Ukm.n,t

. Which of the following statements (I through IV) are true concemmg the functions of the large intestine?
bsorb some vitamins. .Absorb water. III. Creation of albumins and globulins. IV—Create-newred-blood

udaslin 00%ohs Madd Wioun e
M M%IIIandIV C)II,HIandzIV D)IIIIII dNDD’%)I(XIO_{;m rs oy
e L-inttefint HzO vitauns dgpe. NOT ooz, roce or albummsdrglo!oulms-@omnn.

15. A new species of vertebrate was dlscovered It has a two-chambered heart, bones, gills, and i5 found in wa

E A knowledgeable biologist would also predict it also had:
Cyrammistisegg. D) am @ swim bladder and an operculum.

ontS, ‘ﬂlllé, H20 — Mo bladd% Swim b\ado\%dro[:&culum.

16. Which antibody type is a monomer, and is involved in allerglc reactions?

( AgA. B)IgG. (O)IgE. D)IgM. E)IgD. \%‘E. memdlcg

17 How do birds and mammals elunmate their metabolic wastes?

ephrons ofa kldney NQ, hons

w}m o> & eli Bt el
18.In each of the ?llowmg ghoxcp%elomoo travels directly frofn-b thet'n t structure into the second. However, jgsky .

e E{leﬁatrcﬁl WY G plood dogs Nob

—>left ventricle.

A) left ventricle —> aortz, _P: .
RYcapillary bed —> venule. EYrightatrium PRV HOVO \/ena Covoe
Plod left=>00rto. et o > LUt V H@h’m—vn v jum-
E 19. The smallest unit of the human respiratory system, where gas exchange occtirs between resplre axr an
blood: A) glomerulus. B) Haversian canals. C) corpuscle D) mtercalated disks. alveolx

‘ . olveoli = smaliest wideYuumasy W
D é()(Whlch of the following is ngt a general characteristic shared by all ¢raniates? cellular digestion.
c

omplete digestive tract. €) indeterminate cleavage. @open circulatory system. E) ionic regulators.

all
— 21.In whaq\- type of tissue would you find a osteocyte? _Benez
€ A)musculer; —Byepiiretial, -SyervoTs- » connective. DS’[[; OCNTE = - r?ooh e

22. Animals require 20 basic amino acids to build proteins. Some amino acid are essential amino acids, some would
be called ‘nonessential’ amino acids. An amino acid that would be called essential:
—A)isToroie of the20amino-acids-needed for proteins. B) can be made from other amino acnds and other

substances provided in the animal’s diet. C)-is-one-notused-by the animal to-produce-proteins. @must be ingested
by the animal. E)isiessiiipo an anmnonessential-amine-aeid-in-building-proteins. ~

2 apun> CLeido ot il %anumw '
23, A new s%eoc?es 0 eé%"tebrate was discovered. It hasa ambered h lungs, scales made of keratin, and

limbs with five toes. Its entire life cycle occurs on land A knowledgeable biologist would also predict it also had
—A)fir. B) ca;:ulagmous.endeskeleton?) amniotic egg. Dyutunicofceliulose.  Eyfimsand-an-e
oo '5 S 4 4000 M ol
24, Which of the to lowm'gqs falselof both ’ and Jamprgys? A) the/y both havela hotochord at some time in
E— their life cycle. both groups laf@h)aws they both have pharyngeal gill slits. they both possess at least

one palr of semicircular canals. they both lack vertebrae. . .
M Jawp oodord, Qe At (Anods \Hage ‘{)""b“um"f Aace vidibras. .
D 25. The partlal pressure for oxygen would be greatest: A) inside mltochondna B) in the right ventricle of the |

heart. C) in the interstitial fluids. @ in the alveolar air space.  E) in the red blood cell. a_Q VLY
'().Q.Olou‘J
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26. \Kich of the following cgrgs species that ha:?/rlhree-chambered heart?

A)-Aves. @ eptilia. C)Mammalia: D) Ostefchthyes: E) two of the above answers are correct.
=N\

27. An animal equjpped with nephrons for collection of nitrogenous wastes: i how MFWM ?
A) an insect. @ human. C)an earthworm D) a flatworm.  E) an amoeba. ) ‘ ‘

anumod
28. A type of [T-cell that is thought to help prevent/aut6ifiimune diseases.
per T cells. £Bj-eytotext . O plasma cells; neutrophils. @uppressor T cells T clls -
29. To which of the followihg groups do birds belong? Avtoimmune dUSL0aLR —> {

@uricotehc animals. B)ureotelic animals.  C)-ammonetelic-animals 2rBivda o _WMCIL uml W
Birdo ML wlcotdic Aumado

30. Oxygen gas is transported in blood most efficiently by: A) chemical conversion to water. B) combining oxygen
gas with carbon dioxide to form bicarbonate. emporarily binding to hemoglobin. D) dissolving as a gas in the
plasma. E) interacting with hemoglobin to form carbonate. faLst 'tmllS

) (XW v
31. Amphibians belong to thmﬂﬂm -ta::\t Fj\amﬁ U(S %ﬂrm%lom
A) Urochordata. B) Mammalra !C&!Cramata D)-€ephalochord O[DE) Chordata.
lum maLn,
Phylum — Uidadp, \Ch;ugfi.bm-»a onumadios ~> wkauaofn.,

32. An ammocoete larva is the larval form
-A)-sea-squit. élann:lﬂ, G)-bonyfish. @Jamp;ey E) hagfish.  Ammpcotte lavae = w%

owae=> Joum P
33.-Protein drgestxoﬂgecggsern\ the > % 2 0UMmocotL Laruad. b
A) mouth. B) stomach. @smam:msum D) large mtestm ) liver. VYD‘HU/L ad g‘hor\ L%U'b@

DOSED— [WMIVE g m o U H J@tv
34. The meta{hlc\)%c waske urtkzgzo\fsS ormed from ammonia; the ammonia in turn was produced from the removal of
from amino acids.  A) carbon dioxide. B) hydroxy] C) methyl. D) carboxyl. @ammo
Metabolle yoste, (= nmduced o moval 04 apuny £oct an punino acid .
35. The group that has a notochord that becomes partially enclosed by cartilaginous sheath, a cartilaginous skeleton, a

circular mouth with keratinized teeth, a rasping tongue, and two pairs of semicircular canals:
A)seasquirts.  B)sharks.  C)hagfish. D) bony fish. @ lampreys. LOMPMYS= va rS Sum circulour

0")&’ 2 A aradoo Canado & caﬂﬁﬁaqmmw . Corals «
36. Which of the fc?ﬁo 1 gAt'Zerrat groups is nof/considered a amniote tetrapod?
steichthyes B Reptilia. ) Aves. ammaha’rh E) all of:{ihe above answers are amniote tetrapods.
APOD= octetcynes - They owt Fioh. f
37. Which of the followm stmpgursphes cardiac mus: %le from bo%smooth muscle and s letal mu

A{Only cardiac muscle ce]ls contract. ‘BYCardiac muscle cells are the only one that are striped or strrated
¢ Cardiac muscle cells are the only onés that con involuntarily. Cardiac muscle cells are the only ones that
contract when you voluntarily wish them to do SO.@&I‘&&C muscle cells are the only cells that are branched.

ongdioe, « MLseLLo 0)\116 Wil et oL branchus:
38. Tunicates (seacéqums%long to the subghy}um
rochordata. B) Mammalia. C)Craniata. D) Cephalochordata.  E) Chordata.

39.You havc—aE fu unéﬂa%]aﬁnm%arwm t Wmm 'leCﬁrES"’UEOCHOW

ers during spring break. The animal is segmented, with chevron-
shaped muscle blocks arranged along the notochord. It has no bones. The adult swims, and the notochord is retained
in the adult. It is in the subphylum:
A) Craniata.  B) Hemichordata. ephalochor ata. D) Urochordata.  E) Echmodermata

« Cheyron: eeﬁhab chordadn -

40. Which of the following is analogous'to the msects’ Malpighian tubules, with respect to its function?
A) mammalian pancreas.  B) human appendix. @mﬂluscan metdnephridum. D) annelid intestine.
E) mammalian spleen.

Arologmv's 4o Insects Modgxgh\om Hubulte

mollusean mdcanc,phnd\mw
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41. Your doctors proscribe a drug that prevents your digestive system from producing most.of the hydrolytic enzymes
that digest food materials. Which organ is most directly affected by this drug? —‘Pm M«S

£ A)stemmch. ~Bytiver> @mﬁﬂ—mm DHarge-intestine. E) pancreas.

42. What is the body’s first line of defense against infections? A) antibodies. B) T-cells. C) B-cells: *
@several nonspecific obstacles such as skin and mucus membranes.  E) G-cells.

43. Which of the following groups (if any) is not a ggg].hgstoge? ks Mimalo |
E A) bony fish. @) ancelg ts. ! C) mammals. D)emphibians. E) all of the previous answers are gnathostomes.

 Lanceluts = afathsome . AN ATHOSTOME 5= lancelets

44. The hormone that stimulates the production f tomach secretions and stimulates mucosal cell division of the

. in. D)pepsin. E)bile. .
GagHN= SHMAUN SLERETOS g a) cthl division un Stomagnh Loy .
45. The pathway of urine from kidney to the outside 1s: :

A) kidney—~ureter-bladder=epididymis=urethra. .
Bykidney—ureter—epliidymis=bladder - wethra.. Y U'HU
gy Kidmey= mdder=ureter.

D

lining of the stomach:  A) cholecystokinin.

kidney - ureter - bladder - urethra.
¥) kidney - ureter - liver - gall bladder - bladder - ureter.

46. Carbon dioxide is transported in blood primarily in the form of: @drsso‘lved-carben-dmxmn_gas.,
D B) bicarbonate (HCO;).  C)carbonicacid (H,COy). Dycarbon monoxide {€0):

Els CO , tronsporiedn blood by bicarbonase
-D 47. The connective tissue that connects a muscle to a bone, is called a: &om Yo bone, <= U

E) myofibril. 'b()m-"mUSd _ l

A 48. The large skeletal muscles in your upper leg are: triated and voluntary. B’)/smooth and involuntary.
_Cf smooth and unbranched. B} smooth and voluntary. _E) striated and branched. |
Steletnl musde= &in & volunton) - Striated & vouniwi'
—,A\ 49. A specEa dr{ltxlé has been develope%‘th{ginhibits e conn-yg:tion of uninucleated cells that have no prominent
striations. Which muscle type would be inhibited? smooth. B)cardiac C).skeletal.

1d be equ " &mMooth = uninudieakd, & NO Stiatens .
‘Pﬁ 50. Which mammal group lays eggs that hatch outside of the mother?
onotreme mammals. B) marsupial mammals. C) eutherian mammals. 1o m
Monotreme, anumals = S ok hatkn »
outBldl mothue. 04)3 wm opeleted = Sirioktd &
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